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35-O

N Ei 1 s A up to fifty terms and 3, 5, 7, .........
up to sixty terms are two arithmetic progressions.
In these two arithmetic progressions, how many
terms are identical in values?

(1) 25 (2 20

(3) 21 (4) 22

(5) Question not attempted _
. If line x +§ =+/2 touches the ellipse

2
x? + -3-(4— = 1, then the eccentric angle of the point

of contact is -

T T
() 3 @ 3
T i L
@ 5 @ %

(5) Question not attempted
- If ¢(p) is the Fourier sine transform of a function
f(x) for p > 0, then for p <0, Fs {f(x);p} is equal
to -
M) -6 (p) @ -6 (-p)
©) ¢ (-p) @ ¢ (@)
(5) Question not attempted _
. If ¥ is the position vector and 3, b are constant
vectors, then which of the following identity is
‘not true?
(1) curl [(# x @) x b] =bx3
(2 div[(¥ x ) x b] =-23b
(3) curl [f x (@xT)] = 2Fxa
(4) grad (d.7) =2
(5) Question not attempted
. Normalizer set of an element 3 of group
G =[{1, 2, 3, 4}, x5], will be -
M {1,2,3} (2 {1,2,3,4}
3 {1,3} @) ¢
(5) Question not attempted

. All bilinear transformations, whose fixed points
are — 1 and 1, are -

-b +b:
=2 @w=
az+b __ aztb

@) w= -bz+a @w = bz+a

(5) Question not attempted

1.

GET IT ON

Google Play

258 AT UG TP QAT 3,5, 7, e
|IS Ual do &l HIR St € | 9 1 9HieR
APRN # fpaw ug 7FT & 99 &7

(1) 25 (2 20 |
(3) 21 ~=(4) 2D

(5) argaRa e

afe @n x+-§=\/§, g X2+§=1 Eal

el R, A G g & Iobs DIV ® —

1 us
(1) 3 @ ;

& ' 2
@ 3 @ -
(8) 3rgiRa e -

e T B f(x) BT BHRA T HIR O(p) &,
el p>0, @@ p<0® fU F (f(x);p} RT&R
3

M -6 @ - (-p)

@ ¢ (-p) B B X ()

(5) SrgaiRa U

Ife ¢ va Refy |few oo 3, b smR afew &,
o e wdafeRl § @ S g T8 87
(1) curl [( x E) x b] =bxa

(2) div[(¥ x3) x b] =-23b

3t Ir x (afir) | = 2rxa

(4) grad (3.7) =4

(5) argeiRd weT
€ G=[{1,234}x] & IEgd 3 I
TS Agead BT —
(1) {1,2:3} (2 {1,2,3,4}
3 (1,3} @ ¢
(5) SrgaiRa U
1 23Rae wuraer e Fer fig - 1
TILE, & — ‘

az-b a+bz
W e
ow-E W=
(5) SrgaiRa ue :
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7.

10.

11.

12.

The dimension of the subspace
S={(a,a,a)lae R} of R’(R) is -
(1 3 (2 2

3) 1 4)

(5) Question not attempted

General solution of differential equation
L e R 0 is - ;

dx x2-2y-1

(1) x*+2ylog,y-cy-1=0

) x2+ylog.y+cy+1=0

() x2-2ylog, y+cy-1=0

(4) y2+2xlog.y-cx-1=0

(5) Question not attempted

Let A= {xeNI|x <9} and R is a relation defined
on A such that xRy < 2x - y = 1, then range of R
is -

1) {2,3,4,5)}

(2 {1,3,5,7,9}

3 {1,2,3,4,5)

4 {1,2,3,4,5.6.7.8.9}

(8) Question not attempted

The set S = {a+1ib, c +id} is a basis set of vector
space C(R) (where C(R) is field of complex
numbers), if and only if-

(1) ad-bc#0 (2) ad+bc#0

(3) ac—bd#0 4 ad+bc=0

(5) Question not attempted

The maximum value of function

f(x, y) = 16 — x> — y* subject to X + 2y = 6, is -
OE= @5

6 4
@) (@)=
(5) Question not attempted

If f(x) = [x] (Greatest integer function), then the
interval in which f satisfies all the conditions of
Lagrange’s Mean Value Theorem, will be -

ol w2
o Al

(5) Question not attempted

T

WE

GET IT ON
| Google Play

+ R}R) ® SugHfte S={(a.a.a)lae R} & I

o

(13 (2 2
31 4)
(5) Sr=iReT we

; 2Xy ;
. yape wER & = Y @1 wer S

X< — 2y

—

(1) x24+2ylog,y-cy-1=0

2 x2+ylog,y+cy+1=0
() x>-2ylog.y+cy-1=0
(@) y?+2xlog,y-cx-1=0

(5) argaRa U

© HHET A= {xeN|x <9} T A TR URHIRT T3

RSHUSPR & fF xRy 2x-y=1.G9 F @
IRER & —

(1) {2,3,4.5)

@ (1,3,5.7,9}

@) {1,2,3.4,5)

(4) {1,2,3.4,5.6.7.8.9)

(9 3rglRa we
10. §=9g S = {a + ib, ¢ + id} GRY WAl CR)

(S8t C(R) wfws Wt &1 & 2), &1 I
IR G B, afe &k Haa afs —
(1) ad—bc#0 (2) ad+bc#0

() ac-bd#0 (4) ad+bc=0

(5) iR e
- B f(x,y) = 16 —x* - y* &7 Sfeass 71 T3fd
X+2y=6%8l, § —

e @ 5

BF @3

(5) Sr<iRd ueA
- A f(x) = [x] (AT UIid Gord) B, @ €
SRS S BIC  11 1 f  E  e e es  T

gfcreei Pl =g Heel B, B —

o [ @ 2]
® (0.2 @ [

35
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13. A fair coin is tossed again and again in a fixed 13- U@ fwer Ras & FR¥d w@@ § IR—aR

number of times. If the probability of getting IVl o1 2 | afe ara forg s &1 wifraan,
seven heads is equal to that of getting nine heads, R/ o B wifear @ axEx 81, aF & R
then probability of getting two heads is - 3= @Y uifiear g8rft —
21 15 21 15
) o5 @ o5 o5 @ Hn=
9 ; 5 9 5
®) o W @ ® o AP
(5) Question not attempted (5) srqaRed ueA {
14. value of ff fle fle log.rlog.slog.t dr ds dt is - 14. f;’ fle _fle]oger log,s log,t dr ds dt &T 919 & —
Mo @ e M0 @e .-
3 1 (4) (1-¢) 3) 1 (4) (1-e)
(5) Question not attempted (5) argaiRa ueH
15. The equation of the cylinder, whose generators  15- 99 Jo9 &1 wHigRv, sl S @l
Sesani oyl
are parallel to the line 7= <= =2 and whose §= %:%%W%awﬁmav‘rﬁéww
guiding curve is the ellipse x>+ 2y* = 1;z = 0, e 22 2= 152208 & —

is -
(1) 9(x*+2y* +7*) —6xz + 12yz =1
(2) 9x*+y?+7*) —6xz+ 12yz=1
(3 9x>+y*+2z*)-6xz+ 12yz=9
(@) 9(x? + 2y + 72) — 6xz + 24yz = 9 (4) 9(x* +2y* + z%) — 6xz + 24yz =9
(5) Question not attempted (8) Srgad we

16. Complete integral of the partial differential 16 37if¥r% 3f@PA FHIHRT (xy — zx) p +

equation (xy — zx) p + (yz — xy) q = (xz — yz) (yz — xy) q = (Xz — yz) BT q;Uf THA & —
is -

(1) 9(x2+2y*+7%) —6xz + 12yz =1
(2 9x*+y*+7%) -6xz+ 12yz=1
() 9x*+y*+ 2z} —6xz+ 12yz=9

T

ST L

M fx+y+z,x>+y*+2%)=0
M) fx+y+z,x*+y*+2z9)=0 ‘ ‘
(2 fx+y+z,x-y+2z)=0
() fx*+y*+2%xyz)=0

@) f(x+y+z,xyz)=0

(2 fx+y+z,x-y+2z)=0
(3) f(x2+y* + 22 xyz) =0
@ f(x+y+zxyz)=0

(5) Question not attempted (8) SrgaiRa we
17. Singular solution of the differential equation 17. 3@@e THHRT p = log, (px - y) (GETp = %
p =log.(px -y) (wherep=%) is - T fifEsa e —
(1) y=xlog.x+ 1 (2) y=xlog.x-1 (1) y=xlog.x+ 1 (2) y=xlog.x-1
(3) y =xlog.x+ x (4) y=x(log.x-1) () y =xlog.x+x @) y = x(log.x-1)
(5) Question not attempted - (8) IrgaRa e

35- EB Page 4 of 32
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18. Consider the following two statements - 18. fa=forRed &1 Ml W IR Hifve —

() If Linear Programming Problem have @D I foe Wad TUrFE TR BT GATd
feasible solution, then it also has a basic gl fdem= &1, a1 S9dT Ush ey ?j,"\“l’fl?l
feasible solution. . gl A1 BT

(I) There exists only finite number of feasible (ID) RaF TUT THRT B Dad gRMT G@=
solutions of L.P.P. # gaTa g = B €

Which one is true? - DT G 87

(1) Only (1) (1) DI (1)

(2) (I) and (1I) both ) @) Tar () =i

(3) Only (1) (3) ®ad (1) :

(4) (1) and (II) both are false (@) (D qerm (I <1 & o/ &

(5) Question not attempted (5) SrgaRe ge=

19. Bilinear transformation w = % which has one  19. fg¥Rg%  wHU=RET w = :::: foraar v gRfad
finite invariant point o, and the other invariant fFfeeR g o 91 g fAeer fag &l @

point o can be expressed in usual notations as A dbad ¥ fea wu # forar o wear 7

(where A= %) - (\“rl%"fl = 3)

Mw=Az-a MNw=A@z-a

@ w—a=A(z—-a) @ w—a=A(z—-a

@) cz2+(d—a)z—=b=0 @) cz?2+(d—a)z—b=0

@) ——=—+1 @ =112

(5) Question not attempted () SrgaRa o=

20. If system of linear equations - 20. gfg YRap g e —

X+4y+32=0 X+Ady+3z=0

3x+4y-22=0 3x+4dy-2z=0

2x+4y-3z=9 2 2x+4y-3z=0

has a non-trivial solution (x, y, z), then = is T T Sﬁiﬁ'\' Ty 2 )_c% RS —

equal to - | s & %

m = @ = Bfaa @+

@ : a1 g% @ 3 e
4 A .

() Question not attempted (8) srgaRd e

YUq UHR D ooy Bed Pyx) @ form,
[ PR(x)dx SRTeR ® —

21. For the Legendre function Pu(x) of first kind,  21.

f_?'sz (x)dx is equal to -

(1) ; (2) % (1) ; (2)%
@ 2 @ 3 @ = @3
(5) Question not attempted (5) IrxiRd U

35-@®
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2Z. Three forces of magnitude 8 Newton, 5 Newton ~ 22- & %1 UR fehareficl 8 =g, 5 =g+ T 4 =g+ ‘

and 4 Newton respectively acting at a point are gRATT $ HE N g |rarEeet § g
in equilibrium, then angle between the forces of 5 g QAT 4 RIS URHATT dTet gl & A DIV
magnitude of 5 Newton and 4 Newton is - B

L -1(35 L3 ‘ 1 (55
(13 () cos (2 () 3 @ cos ()

e ) -1(13 -1(28

(3) cos (40) (4) cos ( % 0) (3) cos (40) (4) cos ( 40)

(5) Question not attempted

(5) arg=iRa U

23. For following pay off matrix, the value of game  23. 7 ™ #fgaw arel W &1 79 & —

is -

Player A,

(1) 4
@) 6

Player B

Il
7
2
2

(@ 3
4 7
(5) Question not attempted

Hi

2

6

{

fRaensr B
I 1] i
1 7 2
faarsr A, 11| 6 7, 7:1
nmis 2 6
(1) 4 (2) 3
(3) 6 4 7

(5) SrgaRd ue

24. A tensor. which has the same set of components 24 T% ufdwr, o gl & Y=y TS FHrR

relatively to every system of coordinate axes, is & el el & amerd: 9 B §, HEard
called - = :
(1) a mixed tensor (1) g @3 gfew

(2) an isotropic tensor (2) v HHafRe ufew

(3) a contravariant tensor (3) vs wfuRadd ufesr

(4) an invariant (@) v AR

(5) Question not attempted

(5) JgiRa g

25. Which of the following statement is not true? 25. famforRaa | di9aT HoH |9 T8l 27
(1) If guiding curve is a conic then equation of (1) afe A<eed 9% UF oida & a1 | B
cone need not be a quadratic. Teor fRarh 2FT oo T8 2
(2) Degree of equation of a cone depends on @ sig & whexer B oum, Fve @ B
degree of equation of guiding curve. A o i aT s .y
(3) Every homogeneous equation of second :
i = o @) e O TR & GAfgErd GHeRT gd
degree of three variables represents an :
: ; I fd=g arer wig &1 WHIHROT B B |
equation of cone with vertex at origin. =2
(4) A cone whose equation is quadratic is called @ T Wiy e wher o @ S|
quadratic cone. fgamcl < Ped €|

(5) Question not attempted

(5) SrxiRa e

35-0
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26. If y is a function of x such that loge(y - x) = 3xy,
then y'(0) is equals to -
(1 -4 (2 4
(3) 2 4) 3
(5) Question not attempted

27. Two dice are thrown together, the probability
that the sum of digits obtained is a multiple of 4,
is -
(1) (2)

3 (4)
(3) Question not attempted

28. A and B are two finite sets such that n(A) = 3 and
n(B) = 5, then maximum number of elements in

oo I N
BNl

(AUB) can be -
(1) 3 (2) 8
(3) 5 @ 7

(5) Question not attempted

. 29. Tf matrix A is orthogonal and 1nvolut0ry, then A
is -
(1) Symmetric matrix
(2) Nilpotent matrix
(3) Skew symmetric matrix
(4) Scalar matrix
(5) Question not attempted
30- The angle between the: line T = G+2i—-k)+
A(i = + k) and the plane ?.(2i—]+Kk) = 41is

given by -
(1) sin™? (5\3/—5) (2) sin~! (?)
@ cos(2) @) cos™? (22)

(5) Question not attempted
31. The number of generators of an infinite cyclic

GET IT ON
Google Play

26. Ifg y, x &1 TAT B 8 fb loge(y - x) = 3xy,

9 y'(0) TRTER & —
(1) -4 2 4
(3) 2 4 3
(5) SR v
27. T) Tl DI T AT BB ST 8, o WIS S
@ AT BT 4B [UIF B9 P Wifdebar & —
M 5 @ 3
@ ¢ @ 5
(5) Ir<iRe ue

28. A o1 B U9 a1 uRfE W= € fb n(A) =3
TAT n(B) = 5, 99 (AUB) # 3rqgal &1 sifdrhas
T B 9dhal & —
(1) 3 ‘
3) 5
(5) SR ue

29-;&&1@@Aﬂfﬁ€5@aﬁﬁaﬂuﬁ,a‘rA

2 8
@) .7

(1) wafAd smgs
(2) TrgwrET 3regE
(3) fww waAT 3R
(@) sfxer amege
(5) srgaRa ueA
30 e ¥@r t=(1+2)—k)+A(i—j+k) @en
e (21-j+k) =4 & 7@ @0
ST § —
() sin~(22) @ sin(2)
(3) cos™?! (g) (4) cos™? (-z-aﬂ)

(6) srgaRa we
31. vo IuRfAa =hlg W9 & SEdl B HeE

group is - | —
(M 2 23 (1) 2 @ 3
B) o @ 1 8) @ 1
(5) Question not attempted (5) argaRa e
7 giaE
32. Infinite series 1 + - + + = AT is 32 39 it 1+ st taan b e ERER
equal to - g —
() 2% @ 23 M 23 (@ 2;
@) 32 @ 23 @) 33 @ 2
(5) Question not attempted (5) IRa wed
35-6p Page 7 of 32
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33. In a divided difference table A}.y. 14, ﬁly; 64, 33. U fgwiferd afar 9roll o Zhy,"m Ay, 64,
AY& 197, then value of ﬁ}.yl |sequalto- /Lya 197, 9 Al)ﬁ 1 °H ENT&'Q g
1 19 23
@ : (1) 19 @) %
(3) §§Q @ 10 (3) 3 4 10
(5) Question not attempted (5) SrgaRd U
34. If the value of a function at m be denoted by 34 It TP BT B mW AT B A, = M (d 2 1)
Am = Hdm (d # 1) then value of —1s equal & Tres e S A Mm T T qETE —
to -
(M d 2 247 M d () m
1-d &
@ =L @ 0 @) = 0
1-d
(5) Question not attempted (5) SrgaRd e
35. If the line joining the points (-2, 6) and (4, 8) is  35- AfX f&galT (-2, 6) T (4, 8) BT AT aTell ¥,
perpendicular to the line joining the points favgail (8, 12) @ (x, 24) & A arelt g7
—A2 : 2
(8, 12) and (x, 24), andx=T,then)L1sequal WA 2 ger Xzig} AT Cr
: — 8L,
to - 2
1) - 2) -
(1) 4 @ 3i o .
@ 243 (4) +4i ©) 23 =4
(5) Question not attempted (5) SrgaRa s
36. Number of all the cosets of H={0,3,6,9} inthe  36- HH8 G = (Z13, +12) 1§l H={0,3,69}%
gronp G = (Zy2, +12) is - gl 3 &1 §
16 (2 3 1 6 (2 3
@) 2 @) 4 (3) 2 4) 4
(5) Question not attempted (5) Srg<iRa e
87. In usual notations, if f(z) = u + iv, is an analytic 37 WY Hoad H, AT f(z) = u + iv, 76 ATF
function and v = y* — x?, then f(z) = BT B a1 v=y>— x5l f(z) =
(M iz+C @) —iz2+C (1 iz+C 2 -iz2+C
() —iz+C @) iz?+C () —iz+C (4) iz2+C
(5) Question not attempted (5) Srg<iRa e
38. The number of common tangents to the circles 38 gl x*> + y> =4 TT x> + y? - 6x - 8y = 24 &I
2+y=4and x®> +y*-6x -8y =24 is - SIS el @Rl 1 HEm § —
(1):3 () 4 (1).13 () 4
31 @ o @)1 @ 0
(5) Queéstion not attempted (5) SrgIRd g
39. IfaM;;‘ ) =6N§; 4 , then using Green’s Theorem,  39- Ifg aM:;’ 1 45 aN;: Y g9 N9 v 3 Suan
the value of fc(M dx + Ndy) (where ¢ is a fc(M dx + N dy) (&l ¢, xy—ae # U Hafaa
regular closed curve in xy-plane) is - 9% 9 8) BT A 8 —
11 (2 3 M1 (2 3
3) 0 @) -1 30 4 -1
(5) Question not attempted (5) 3rgciRa g
35-P Page 8 of 32
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40. “SATDEN” 31% & 3R} § §97¢ o9 Tt fobersy

40. How many words can be made from the letters
of the word “SATDEN”, in which the vowels i § wWR guiETer @ AR M0 87
appear in alphabetical order? ) 120 @ 360
(1 120 (2) 360 ! peiie
(5) Question not attempted . () FFaRa we
41.If 3 b2 are three vectors such that 41. 3 3 B,E d9 9ty 39 uerR § &
d+b+&=0 and |3 =3,[p|=512 =7, d+b+¢=0 @ [3=3[b|=51¢ =7
then angle between @ and b is - TG Z AT b B HeY PIT & —
(M 45° (2) 90° (1) 45° (2) 90°
(3) 60° ) 752 () 60° @) 75°
(5) Question not attempted (5) srgaa wed
42. Which of the following statements is correct? 42. fy=foad Sl § 9 Biar Tl 27 -
(1) If any primal problem has no feasible (1) afe bt 3irer TR &7 GHTT 8T e &,
solution, then its dual problem will also have it TE 2 R @7 Y W e
ibl ion. ;
no feasﬂ? e solution ' . & & B
(2) If any primal problem has a feasible solution, 5 :
then its dual will also have a feasible (@) 3 fost omer T .I B GO A B, A
solution. $HD! gl BT H GG g BN
(3) If primal problem has no feasible solution, (3) afe e w=e & TG gl faemE &
then its dual problem will have an B, O 39! 2l GARIT & &1 AURAE B |
" ;‘fnb;“f}‘lded ,301‘;“0“;1 oo (4) =f ser o g < <R @ e
.ot pnma. and dual pro er.ns have 7 2 = ar 2R B ' UR
feasible solution, then both will have i
bounded optimal solution. S |
(5) Question not attempted - (5) srgaRa ye=
43. The inverse Laplace transform of log, ( ;p)ls - 43, log, (1 x p) &1 Ufiel™ AT HuR & —
L e 1. e
- 2) - ol 1y = 2 -—e
@) 1-e* @i (B) 1-¢~ @ 1 _ﬂ
X
(5) Question not attempted (5) argeiRel U=
44. A body moving with S.H.M. has an amphtude 4. IR A T F o arel fHA BT BT A
a’ and time period ‘T’. If the velocity is tripled, ‘a’ AT JAMaadhId “T° & | Il BT a7 Ay Reyfey
when the distance from the mean position is G)a g (-;—)a R B W ST 9 foEr xR
and the period remains unaltered, then its new SIY U4 Ifaderdd Jufkafid I8, d g9ar 731
amplitude is - CI[AE B —
7 7
M (%)a @ (%)a M (%)a @ (%)a
5 9
@ ()a @ (3)a @ (3)a @ (3)a
(5) Question not attempted (5) ergaRa ueA
35-6 Page 9 of 32
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If three points vectors
601 + 3§,401 — 8j and al — 52j respectively are

collinear, then value of a is -

with  position

45,

GET IT ON
Google Play §&

g d9 fag Rre Rufa wfewr s
601 + 3j, 401 — 8] T ai — 52 &, W& ©, A
a ® A B —

(1) 40 (2) -40 (1) 40 (2) -40
(3) 100 (4) 160 (3) 100 (4) 160
(5) Question not attempted (5) 3rgIRa ued
46. L et T, be the number of all possible triangles ~ 46- AFT Ty, n-oTRIl ATl T FHIGS B TSI Bl
formed by joining vertices of a n-sided regular SiTed R 9+ aTel Wt |wifad Brgeit @ e
polygon. If Tus1 - T = 21, then the value of n 219 Ty -Ty=21%8. Al n T A & — -
is - '
2
) 8 @ 10 (1) 8 2 10
@) 7 @ 5 @) 7 @ 5
(5) Question not attempted (5) rgaRa e
47. Equation of the asymptotes of the conic 47, 3fig L= 1+ e cos® (T&T e>1) B aF=aeue
r
§=1+ecose(wheree>1)is- BT GHFT & —
(1) Ir = e(e? — 1)cosO + e +/(e? — 1) sinb (1) Ir=e(e? — 1)cosB + e /(e — 1) sinb
(2) el =r(e? —1)cosB +r+/(e2—1)sind (2) el =r(e®? —1)cos® +r+/(e2 — 1) sind
(3) le = r(e? + 1)cosB + r/(e2 + 1) sind (3) le =r(e® + 1)cos8 + r/(e2 + 1) sinB
(4) el =r(e? —1)sin@ +r,/(e? — 1) cosB (4) el =r(e? —1)sinB +r./(e2 — 1) cosh
(5) Question not attempted (5) gRa g
48. A variable plane passes through a fixed point 48 U& =R HAdS T ReR 4 (a, b, ¢) A ToiRal
(a, b, ¢) and cuts the co-ordinate axes at points g ao fdeh sl @1 fegell A, B3R C R
A, B and C. Locus of the centre of sphere OABC, Fledl & | Mt OABC & &5 &1 fdguer 8,
where O is origin, is - S8l 0 g fdg & —
X y CRES a b c X Y Z7 8 a b Cod
mtrt:=1 (2);+;+;=2 et + - S el e
X y Z a b c e Fioryzm a b £l
@itsFic2 W sl OBEEE ISR S s
(5) Question not attempted (5) ergaRa we
49. If Jo (x) is Bessel’s function, then value 49-afe J, () &9a Wod @, @
of fomx e 3% J,(4x) dx is - f;x e 3% ], (4x) dx BT A ® — '
2 4
(). @ 5 ) = @)
3 3 ‘
(3) @ o @ = @) —
(5) Question not attempted (5) aﬁﬁﬁa g :
50. f_ll loge(x + Vx2 + 1) dx equal to - 50. f_llloge(x +VxZ+1)dx SRR & —
1 2 1 2
) log, 3) ol ORUNE) P
(3) loge2 (4) 2loge2 (3) loge2 (4) 2log.2
(5) Question not attempted (5) Irg<IRa U
35-6 Page 10 of 32
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1. If A;j# 0 are the components of a tensor of the  51- gf Aij 20, (0,2) 9PR & ey & TeF 8f Jon
type (0, 2) and if k Ajj + ki Aj; = 0, then which of e k Aij+ki Ay =0, 99 51 § 9 BT 3rac
the following is false statement? HUT 87
(1) k =k and Ajj is skew symmetric. (1) k =k, a1 A;; fawn wafag 2
(2) k =k and Ajj is symmetric. ' () k=k, a1 A 9Afia 2|
() k =k and Ajj is symmetric. (3) k=—k; qT A THET 2|
(4) kis never equal to k. (4) ke k) B FAE &l 2 |
(5) Question not attempted (5) TR U
52. The Laplace transform of x" e, where n is a  52- x" ™ J&i n U& “A[AS YUlids &, B ATAH
positive integer, is (p > a) - JAR & (p>a)—
1 n! 2 n! n! n!
(1) Grapt @ oon M) G @ G
(n+1)! n! (n+1)! n!
(3) (p—a)“"‘l (4) (p_a)n+1 (3) (p—a)"“‘l (4) (p_a)n+1
(5) Question not attempted (5) 3rgaRa we
53. In usual notations, the acceleration of a point  53. MR HbaHl d, Ud WHRI b H Ub E=T4
moving in a simple curve with uniform speed T o ara favg T RO & —
is -
(1) pev (2) o2
(1) pev @ py? > Py
. 2y 4
@) p2y @) py () p?y ' @) py
(5) Question not attempted (8) rgaRa g
4. Assuming Stirling interpolation formula up to 54 fgdilg %9 & & =R ol BY WX &
second order, value of % is equal to - S ESCHE GEl ¥, d_(:xgl BT HIF IR B —
2 2
(M ;1 +y-1) @ 31— y-1) (M) 2(y1+y-1) @ (1 —y-1)
1 1
(3) 51 —y-1) @ 3o~ y-1) @) 5 (2= y-1) @) 5 (o —y-1)
(5) Question not attempted (5) srgaRa usA
S55. The minimum value of y=64secx +27 cosecX g5 IR 0 <x < g 3 forg y = B ke e
: T . 3
for the interval 0 <x < 7 is - 27 cosec x BT ~gFTH HF & —
(1) 125 (2) 80 "";:I" (1) 125 (2) 80
(3) 45 (4) 64 E:E--E,: (3) 45 (4) 64
(5) Question not attempted (5) argaRa weA
1 1 3
56. The value of lgir?(cosec X) Nogex i equalto-  gg, E(,i_’r{)l(cosec X) Nogex 1 A qRTER & —
(1M -1 1 (1 -1 1
2 - 8 s
31 4) e 31 @) e
(5) Question not attempted (5) IrgafRa ue
35- @ Page 11 of 32
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57.

58.

59.

60.

61.

62.

63.

- (3)

24

For Legendre polynomial

Pa(x), %Pl x)+ % P;(x) is equal to -
(1) x (2) x2

3) x° 4 x*

(5) Question not attempted

Eigen values of the matrix A = [é ﬂ are -

M —-1,i (2) 0,i

(3 0,1 @ 1,i

(5) Question not attempted

The unit vector along the internal bisector of the
angle between vectors a = (i+2k) and

= (—j—2k)is-

5 e, ~
(1) \F(T—i) @ 70D
(@ S @ 5G-D

(5) Questlon not attempted

The distance of the point (l 0 2) from the point
y+1 z—2

= — and

of intersection of the line —
3 4 12

the planex -y+z=161s -
(1) 13 units (2 3v21 units
(3) 8 units (4) 2+/14 units

(5) Question not attempted
e e

-3 3] is the adjoint matrix of a

2 4 4

matrix A of order 3x3 and |A| =

to -

(M5 (2 11

(3 4 @) 6

(5) Question not attempted-

The domain of the function f(x) = (2* + 2¥ -
is -

) 1<x<?2 (2) 0<x<1

B) I1<x<ow (4 o<x<1

(5) Question not attempted

The angle between the lines whose direction
cosines satisfy the equations / + m + n = 0,

If P=

4, then o is equal

2)

P+m?-n*=0is-
T T
M 3 @ 3
T T
G N

(5) Question not attempted

57.

58.

59.

60.

61.

62.

63.

GET IT ON
Google Play [

ovly I Pux) B R IRGO+Z R
TR & —

(1M x (2) x?

3) x° @ x*

(5) arg<iRa W

e A = [é ﬂif‘» i A § —
1) -1,i (2 0,i

3 0,1 {313

(5) srg<iRa we

wfewi @ = (1+2K) 91 b = () - 2k) & ==
DU B IFAHHGHIOE B SR SHIE Al
5

(1) ‘F(i,—i) @ #0-D

@ @ 0D
(E)Wﬁaw
_Q@T%z=%=%ﬁm'ﬁﬂﬂax-y+z=l6
& yfoess g 9 95 (1,0,2) BT g0 © —
(1) 135578 2 3v21s9

(3) 813 @ 2y14d o

(5) srgeRa we

A 3x3 HF D ATHE A HT HeHSYl YT

i o= 3
P=[1 3 .3]%‘H?JT|A|=4E‘r,ﬁ’faaﬂﬁﬁ

2 4 4
() 5 2 11
(3) 4 4) 6
(5) FrgaiRe we
Bl f(x) = (25 +2Y - 2) BT U & —
(1) 1<x<2 (2 0<x<1
B) 1<x<e (4) -o<x<1
(5) arg<iRa ueA
g, e ﬁzﬁcﬁwm GEICa)

l+m+n=0,2+m?-n —Oiﬁwmﬁ
S WY BT B —

(s @ =
@ @ 3
(5) areiiRe we

35 -
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64. For a three-dimensional coordinate system
(x', x2, x*) the components of unit tangent vector
along x' — curve are -

0 (o) @ (o)
@ (Ve'1,0,0) @ ({/811,0,0)

() Question not attempted

65. The general integral of the partial differential
equation Xzp + yzq = Xy is -

(1)¢( xy+z) 0
2 o(x-y,xy-2z2)=0
@ ¢(5xy-22)=0
@ ¢(,xz-y?)=0

(5) Question not attempted
66. Which of the following statements is not true?

(1) The set I of integers is only a subring but not
an ideal of the ring (Q, +, «) of a rational
numbers.

(2) The set Q of rational numbers is only a
subring but not an ideal of the ring of real
numbers (R, +, »).

(3) A commutative ring with identity is a field if
it has proper ideals.

(4) If U is an ideal of a ring R with unity such
that I € U, then U=R.

(5) Question not attempted

67. % x, .y =z €-:[-1, < 1] such: that
cos'x + cosly + cos'z = 0, then value
ofx+y+zis-

Mo (2 2
(3) 1 4 3

(5) Question not attempted

68. Equation of a common catenary is (where c is a.

parameter) -

M y= g(e% - e:?) (2 y= (el: + e—:x)

(3)y=§(e€+e—7) (4)y=5(ec—ec)
(5) Question not attempted :

GET IT ON
Google Play

64. v fafam fdeis o !, x2 x3) & forw
x—aﬁfﬁaa:ﬁwsaﬂ‘s‘mﬁwﬁmzﬁw
§_

o (09

3 (Vg11,0,0)
(5) 3rgxiRa weA

@ (gn.00)
@ (/811,0,0)

65. 3ifdrs sraHT FHHIT xzp + yzq = xy F

HHR 6 & —
(1)¢(,xy+z) 0
(2 d¢(x-y xy-2z*)=0
@ ¢ (5 xv-22)=0
@ ¢, xz-y?)=0
(8) arqaRa yeA

66. freAfee weri § § P T T T 87

(1) guriel &1 =g 1 oRAT Sl & aay
(Q, +, +) BT Ddel U SUIAT & W TH
OTSATEael T8l B |

_*’“(Z)Erﬁha TR B GY@d Q dRdfdd
Lk 9ERN @ g (R, +, o) DI dad TH

IUIST B U= UP T[UTITdell A8 2 |

(3) TP qoEHSB! HHAFHY qed UH &5 S 2,
Ife s IfFa JureTae 8|

(4 afe v6 gl T R H U Ud U
oreael! 8 f Ie U, @ U=R 2|

(5) srgaiRa g

67. gfy x,y,z_e[-l,l]s?:[u'cﬁl'\’@r%ﬁi

cos'x +cosly + cos'z=0,a1 x +y+z & 49

e

(1) 0 @2
3) 1 @ 3
(5) srgailRa we
68. AT heAdl BT FHIGRY ® (SRl ¢ Uh e
g) —
M y=5(c ) @ y=5(cc+e7)

—x —X

(3 y=- (ec+BC) @ y=- (ei—e:)
(5) srgeRa we

35-@
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89. Characteristic of the ring (Z,, +3, X) is -

(1 2 (2)
(3) 0 @ 1
(5) Question not attempted
3_:1' S ;
70. _[% ooy s equal to - 70.
(1) 2 (2)::-2
(3 =2 1
2 . W2
(5) Question not attempted
71. The solution of simultaneous differential 71
equations -
Hdx dy 32
Zdt dt+2x+y—-11t
23—‘: +'3%+ 5x - 3y = 2, has the value of x is
equal to -

11 -11
(1) ces'™-3t+2 (2 cest+3t-2

-8 11 -
(3) cen'+3t-2 @) ces'+3t+2
(5) Question not attempted

72. The approximate value of y'(2) from the data

below 18 —

X190 L Lz A R ]
o0.[ 1 [.8 1277 sa | 1258

(M 6 (2) 24
(3) 18 (4) 12
() Question not attempted

&
-
-

73. In which interval, the function f(x) = §x3 +
_i—xz — 6x + 8 1s strictly decreasing?
(2 1<x<6

@) 2<x<eo

() 3cx<2
@) x<-3
(3) Question not attempted

74. The image of the lines x ='1 and y = 1 under the

: 1 Si
mapping w = -; z =x+iyis -
(1) both bilinear transformation and conformal
mapping

72.

73.

74.

GET IT ON
A Google Play A

69. T (Zy, +5, X,) BT AT & —

(1 2 (2) =
(3 0 @ 1
(5) JrgRa we

3n .

o dx TR =
fg— 1+cos X g
(1) 2 (2 -2
@ = @ -
(5) Srg<IRa ue
AT IaDHA FHDRON —

dx dy 5 i
2 - c+2x+y=11t

22 +3%45x-3y=23 T ¥ x I AN
TR R —

11 -11
(M) ces™-3t+2 (2 ces'+3t-2

(3) ceit43t-2 (@) cevi4 3t+2 ‘
(5) Srg<IRa e
d A U effest ¥ y'(2) &1 afde A

T

el oalasi s a7 s

Y 0 1 8 27 | 64 | 125
(16 (2) 24
(3) 18 4) 12
(5) argxiRe U=

o Wﬁqv_oﬁ'f(x)=§x3+%xz—6x+8
=R graEE 87 '
(1) 3xx<2

3 x<-3

(5) JrgiRe ue
ﬂﬁﬁaﬂTw=§ﬂ=x+iy$ SESUNIRSCIC
x=177 y=17 yfafds 3 —

(1) faxRaeh wur=Ror T g1 gfferser <=
@ 9 @ 3R Rew R

(2 1<x<6
(4) 2<x<

IS CaL|
(2) neither  bilinear  transformation  nor SR -
conformal mapping % * o
(3) a conformal mapping only (3) Pt T SrgereT Hffera
(4) a bilinear transtormation only (@) Bact 7o fe e §ECI|iE L
(5) Question not attempted (5) IrgaiRa ued
N €B . ; Page 14 o 32
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75. The eccentricity of the hyperbola with 75 iRacy @ Sebw=dr R sH<aRig
asymptotes 3x + 4y =2 and 4x - 3y =2 is - 3x+4y=2TT 4x-3y=2%, & —
. 1
@ ; 0z ® 3 @ vz
(5) Question not attempted (5) srgaRa we
76. If& , (where z1, 2> are complex numbers) isa 76 If} -:%  (STET 21, o \fPst weg €), vah fagrg
2
purely imaginary number, then |[-2—2 = is equal BIUMD H&=T 8, ol 22| qureN & —
1 ; ; Z1+2;
to -
13 2
M 3 @ s : 2
@) 1 @) 2 3) 1 4) 2
(5) Question not attempted (5) srgafed we
77- The equation of the cone whose vertex is the  77- Iq @y BT FHHRYI, Rorrapt oM 7ot fg o
o s : 4
origin and guiding curve is x = 5 f(y;z)=0, s 9% x = ;/_3, f(y,z) =0 &), & —
is —
W @ (=Y.
wiEFE)=0 @iEg)-  OlwE) PEE)-
BX S Y E B) flma ) 0 (4) e o T
3) f(ﬁy,ﬁy )=0 @ f(-—v,_i;,@)—o @) (\/Ey ﬁy) (\/_x =)
(5) Question not attempted (5) rgaRa ue
78. [ °x Jo(2x) dx is equal to - 78. [ x Jo(2x) dx TRTR & —
0 0
B =1© @ 21.(6) M =706 @ Z5.6)
@3 > J1(6) @3 3 Jo(6) @3 > 11(6) 4 3} (6)
(5) Questlon not attempted (5) Gﬂﬂ'ﬁﬁ %
79. Which of the following statements is true? 79. fy=faRad st § 9 ST $oUF A 27
(1) Canter’s set is not compact set. (1) Bvex &1 Agzay Aed A=y 7El 2|
(2) Every compact subset of a metric space 2 e wAfe (X, d) &1 J&F Hed Suaqzay
(X, d) is closed. Hqd 2|
(3) If d is usual metric in R, then (R, d) is @) If¢ d, R & weRer 4% ), 1 (R, d) Hea
compact metric space. e FAfe 7 |
(4) Every finite subset in a metric space is not @) e WP v § 7 uRfta Suageg
compact. ggd el sar|
(5) Question not attempted (5) g=iRa weA
80 v2(xyi +yzj + xzK) equal to (where V? is 80 V2(xyi+yzj+xzk) waw ¥ (o V2
Laplacian operator) - ATARITT HRS &) —
(1) 3 @ i+j+k (1) 3 @ i+j+k
31 @ 0 31 @) o
(5) Question not attempted (5) argiRa we
35- @ Page 15 of 32
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81. Area bounded by the curve y = X sin X, x-axis and
ordinates x =0, x =27 is -
(1) 7 square unit (2) 47 square unit
(3) 37 square unit (4) 21 square unit
(5) Question not attempted
82. If A; denotes the area of the region bounded by
y* = 4x and x =4, and A, denotes the area of the

region bounded by y* = 4x and x = 1, then A1:Az

is equal to -
1) 2:1 (2) 16:1
(3) 4:1 (4) 8:1

(5) Question not attempted
83. If S, is the symmetric group of n-symbols and A
is its alternating group, then index of A, in Sp
is -
(1) 2n (2) 2
3 3 (4) n
(5) Question not attempted

84. Two spheres x> +y* + z*+ 6y + 2z + 8 = 0 and
X>+y +z2+6x +8y +4z+20=0 cut
orthogonally, then the radius of the common
circle is -

(1) 3v2
Vit

(3) 2
mu nits

(5) Question not attempted

units (2) — umts

N3k
(4) T units

85. If the iteration formula x = x + b(x® — 3)
converges at a good rate (given that x =a, (a > 0)
is an initial approximation for the root), then

which of the following is true?

M be (0,&) 2 be (-a 0)

@) be (—oo,-:;) @ be (_Tl 0)

(5) Question not attempted

GET IT ON
Google Play

81. g% y=xsinx, x-3%&], TAT DIAT x=0,x =27

q IReg &3 &1 896 § —

(1) nat g1 (2) 4n ot sHTE
@) 3n T g1 @) 2n ot sHTE
(5) areiRe U=

82. X y2 = 4x @ x =4 GRIE & BT AB
AY T PN TG Y =4x T x =19 uRag
&3 BT GThA Ar T D BN, A ApAr a_IER
3

(1) 2:1 (2) 16:1
(3) 4:1 4 8:1.
(5) Srg<IRa =

83. gfg S, n-UHIdT T TP THAT T8 8 3R An

SHST UHIR T8 ©, A Sp ¥ Ay BT JADID.
3 _

(1) 2n @ 2
(3 3 (4) n
(5) rg<ilRa weA

84. g1 Mol x>+ y2 + 22+ 6y + 2z + 8 = 0 T
x>+ y? + 22+ 6x + 8y + 4z + 20 =0 WD HY
| Fred &, 9 WS g9 @1 e B —

(1) 3Z goré @ 22 5o
@) 1= 5T @ =
(5) I=IRe U

85. fg gRIERT FH x = x + b(x? - 3) TF IV
H AfRd 8 (A1 8 x=a, (a>0) a &
TRfY® afded B), @ = § 9 B 9
27

(1) be (0, i)
@ be (—oo,i)
(5) srgeRal e

(2) be (-a,0)

@ be ('Tl,o)

35-6@
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86. For usual metric d(x, y) = Ix — yl for [0, 1] value 86. gy Efﬁﬁ dx, y) = Ix - yl, [0, 1] 3 forg,
of 'S E,%] (closed sphere with centre % and S E.%] (@3 % e Brear %EF[ Hgd el g) BT
radius %) exactly is - D A E -

1 1
™ [03] ™ [o.3] @ [o]
1 2 2 d
@ (0.3) @ (0.3) @ [3.3]
(5) Question not attempted (5) IrgRa wee
87. If permutation 87. Ife ey
mrl 20340 5ohrds gy E O e T ST R
o=(3 122860975 te o=(; 1 228697 5)ToF
the order of G is - DIfc & —
13 (2) 2 (1 3 2 2
36 4) 4 . 3) 6 4) 4
(5) Question not attempted (5) srgaRa w=

88. The derivative of function f(z) = ij: ;z#1 88, BolA f(z) = j:: 1z#1 SElz=x + iy, X, yeR,
where z=x +1iy, X, yeR,i=v—1,atz=2,is - i=V—1,®1 z2=2 R ITHaA & —
(1 -2 (2 2 (1) -2 (2) 2

© (3 21 4 -2i (3) 2i 4) -2i
(5) Question not attempted (5) argeiRa U

89. If x-axis is the axis of a right circular cylinder 89- IfY U TR Jo9 P 81 x0T & qA
and radius is V3 and its equation is Bsar V3 8 u§ e gHieNv
ax>+ by + 2= 3, then (2-2) is equal to - ax+ by + c22=3 9, 7 (2-2) e 2 -

(1) » (2 1 1) -3 2 1
(3 0 (4) -1 3 0 4 -1
(5) Question not attempted (5) sriRa weA

90. Two balls are projected from the same point with ~ 90- g5 €1 fd=g ¥ a1 A HH: 30° A= 60° B PO
angles of projection 30° and 60° respectively. If N gEIfg & Sl © | Ife 99 ERT U "eH
they attain the same greatest height, then ratio of S=rE 9 8, a1 ve a9t @ ST 2 _
their velocities of projection is - Wi @ 2:1
M 1:1 2 2:1 . s @ :

@ v3:1 4 3:1 @) v3:1 Y3l
(5) Question not attempted (5) srFaiRa o

91. Number of real asymptotes of the curve 9. @ y* —x?>—3x =0 IRaAH F=IRIAT B
Yy’ —x%>-3x=0are - [T B — :
M1 (2 0 (M1 (2 0
3 3 4 2 (3 3 4 2
(5) Question not attempted (5) R U

35- @ Page 17 of 32
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92. The number of extreme points of the convex set ~ 92- @@ Ax =b, x 2 0 & YA &oll & A
of feasible solution of system Ax = b, x >0, is - Y=g B TRA gl @1 wE&m el § —
(1) Infinite (2) Zero s (1) raRfA 2 T
(3) Do not exist (4) Finite e (3) faem =El @) gRfAa
(5) Question not attempted (5) srgafRa we
93. If u = f(x, y) is a homogenous function of x and 93 IfY u = f(x, y), x TAT y T & n T BT TP
y of degree n, then degree of each homogeneous YT Bold &, df Ud 999 BT g_z 3R
function 22 and 22 is - 9 a5 -
ax dy P HId
M (-1) (2) n (M n-1) (2) n
(3 2n (4 (n+1) (3) 2n @ (n+1)
(5) Question not attempted (8) JgailRa wed
o4. If (3xB) +(3.5) =144 and |3 =4, then o4, AR (Axb) + (3.B) = 144 o1 [3] = 4,
|b| is equal to - . b =mex 2 -
(16 (2 12 1 6 () 12
@3) 3 @ 9 @3) 3 @ 9
(5) Question not attempted (5) 3rg<iRa ue
95. The value of (31C, — 19C, )+ (B1C, — YT 991G, — 2°C,) + (2205 —19C,) F i
.......... +(21Cyp — 19C,) is - +(*1Cy0 — 1°Cy) BT HH B —
(Where "C, represents binominal coefficient) (S8t °c, fgug vnie &1 yefRia ovar 2)
(1) 22 o10 (2) 2204210 (1).22..210 (2) 2204 210
(3) 220_ 510 (d) 7219l (3) 220 210 (4) 22191
(5) Question not attempted ' (5) Irg<iRa A
%. [ (1 +x— i) ex+§ dx is equal to - 9. [ (1 A= i) ex% dx YR ® —
M (x- 1)ex+§ +c @ _xe*iic M x- l)ex+§ e @ —xe*iic
@3) ;(e’“':i: +c (@) &5 4c (3) xe**x +c @ 5 4c
(5) Question not attempted (5) IrgmiRa g
97. The general solution of the differential equation 97. 3THT THIDHIT % = sin?(x -y +1) &7 |
%=sin2(x—y+1)is— TT & — ‘
(M tan(x-y+1)=x*+c (M tan(x—y+D=x>+c¢
() sec’(x-y+1)=x+c (2) secz(x—y+l)=x+c
() tan(x—y+1)=2x%+c¢ () tan(x—y+1)=2x2+c¢
@) tan(x—y+ 1) =x+c (@) tan(x-y+1)=x+c¢c
(5) Question not attempted (5) aﬂﬂﬁﬁ g
35-&@ Page 18 of 32
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98. dS? = g;j dx' dx is invariant, then which of the 98. Ifg dS? = g; dx' dx TR B, @@ fa= & ©

- following is true?

(1) gj is a symmetric covariant tensor of rank 2.
(2) gjiis a skew-symmetric contravariant tensor
of rank 2.

(3) gij is a symmetric contravariant tensor of
rank 2.

(4) g; is a skew-symmetric covariant tensor of
rank 2.

(5) Question not attempted

I T B8P

(1) g DI 2 FT FAMAT FURTdT Tfee 2 |

() g; P 2 F1 fww wAPE REREET gf
2

() gy dIfe 2 F1 FofHAT wfuRadt ufeer g1

3) g; dIfe 2 &1 fayw 9=l FuRadl ufew
=

(5) IR ueA

99. The coordinates of the pole of a plane 99 T x> + y> + 22 = 16 & ¥UT GHA
2x — 3y + z = 12 with respect to the sphere 2x-3y+z=12B @ B e & —
24y +22 =16 are -
SEaggiu o o@D @)
WD (e
8 4 Bt
4 3) (5,4, = 4) (-,4, -
O+ @ Bl WGt
(5) Question not attempted (8) SrgaRa o=
100. If the entry (2, 2) is a saddle point for the 100.fo Wt # IfX BIfSsHT (2, 2) BT aTd Tear
following game - fag & - :
Player B Rt B
B B, B B, B B; |
A1 2 4 5 . .A1 2 4 5 E
PlayerA, o, |10 7 y st A, Ay | 10 el
s &% Adls | x. .6.]
then which of the following is true? a1 = 4§ 9 =9 99 &7
M x<6,y>5 @ x27.39=>7 M) x<6,y>5 @ x>7,y>7
@) x<7,y>7 4 x<5,y>7 ".:__E @) x<7,y>7 Bixs5y>7
(5) Question not attempted — (5) SF<IRG weA
; x—1_y+1_é—1 x=3  y=kiiz Sox=100 L 2o, x=3 _y-k 42
101.Ifth811nCST—T—-T ndT—T—— 101-?IR'§Q§ITQ S T AT Pt
intersect, then the value of k is - RER Ffees Rl 8, d kP a9 & —
™ 3 @ ; (1 2 @ 2
5 -9 o -9
@ = @ 5 @ = @ 7
(8) Question not attempted (5) ar<IRE o
35- @ Page 19 of 32
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104.

105.

106.

24

If H is a subgroup of a group G and N is a normal
subgroup of G. Then consider the following
statements —

(i) HNN is a normal subgroup of H.

(i) HN is a subgroup of G.

(iii) N is a normal subgroup of HN. -

Which of the above statement/s is/are correct?
(1) Only (ii) and (iii)

(2) Only (i) and (ii)

(3) Only (i) and (iii)

(4) (i), (i1) and (iii) all

(5) Question not attempted

The equation of the plane that has three point
contact at the origin with the curve
x=t-1,y=t-1,z=>1,is -

(1 3x+8y+6z=0 (2 3x-8y—-62=0

(@) 3x-8y+6z=0 (@ 3x-y+6z=0

(5) Question not attempted

The equation of the tangent line at the point t = 1

to the curve x = 1+t, y=t?, z = 1+t is -

x-2 y+1 z+2 Xt2:i  y=1 z—2
Wi s g
e R 2z Sl S
B s Y Ny - T

(5) Question not attempted

Complementary function of differential equation

1

2 By e B el
Xf g H3x oty = 2 18

102.

103.

104.

105.

GET IT ON
Google Play

afe H, 998 G &1 UH SUGYE a1 N, € G
&1 U T SUNE 8, aF fAfaRad del
) fdar Sy —

(i) HNN, H & Y S8 & |

(i) HN, G T U& SUGYE © |

(iii) N, HN &I & JHMI SUETE © |
TWRRD P/ BIAl § A BT/ e 7 /87
(1) ®aa (i) T (iii)

(2) Baa (i) 71 (i)

(3) wad (i) TT (iii)

(4) Y (i), (i) AT (iii)

(5) argeiRa we

S 9EdAd B WHIHRU Wl a9
x=t-1,y=0-1,z=0-1% 9 4o fog W
g 97 Fxar 8, & —

(M 3x+8y+6z=0 (2) 3x-8y—-62=0
() 3x-8y+6z=0 (4 3x—-y+6z=0

(5) argaRd ueA

P x =1+, y=thz=1+2d g t=1W
TIRET BT FHIGIT & —

X-2 _y+1_ z+2 xtz _y-1_ 22
(1)1_2_3 (2)1—'2 3
x-2 _y-1 22 -2 _y-1_ 22
(3)1—2_3 (4)1_-2 3
(5) 3rgaiRd weA
Tlrepeor k2 ¥ 43 Yo 1
Adb X dx.‘.+3xdx+y—(1_x)z
TRF Beld & —

(1) (1+c1x) + 6™ (g E(C1+Cz logx) Ef f_.l: (M) (14 ¢1x) + ce™ @ %(c1+cz log x)

(). (c1+ cx)e* (4) (cy+c; logx)x
(5) Question not attempted

() (ci+ czx)e*

(5) 3rgxike we

(4) (Cl +cy lOg X)X

A number is selected from first 50 natural 106y 50 yrpa w&ARI § ¥ UH G B ‘Tg?ﬂ

numbers. Probability that it is a multiple of 5 or
111is-

ST 21 39 6T ® 537 11D U BN
wRar & —

1 3
(™) ¢ @ < (M 2 @ :
3 7
@ - @ - @ - @ %
(5) Question not attempted (5) srgaRa gee
35-6b Page 20 of 32
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107.1f | j;;‘ﬂ dx = Ax’ + Bx> + Cx + D, then the  107. T fx4i::+z dx = Ax*+Bx’+ Cx+D &, @
value of 5A + 3B + C is equal to - 5A+3B+C & A9 €K & —
(M3 (2 5 (1 3 2 5
@) 9 4) 7 3 9 : 4) 7
(5) Question not attempted (5) SrgxiRa g

108. The value of {(\/E e 1)6] is -

108. {(vZ + 1) (/2 1)6} BT A & —

(1) 199 (2) 208 (1) 199 (2) 208
(3) 99 (4) 198 (3) 99 (4) 198
(5) Question not attempted (5) IrgaRa ue
109. The domain of the function f(x) = m 109. B f(x) = (’GTST [x] A& QUi el
- (where [x] is greatest integer function) is - 2) &1 U=l % -
(1) (-, 0] (2) (-0, 0) (1) (-0, 0] 2 (-, 0)
(3) oo 1 (3) oo 1
) (0,) @ [03) ©, =) @ [03)
(5) Question not attempted (5) SrgeRa we

110. Jf A is an invertible matrix such that A® =
(where I is unit matrix), then inverse of (A° - A%)

A+1L

110.3f3 A U Fohaviid, aegs 39 UaR B f&
Ad=A+1 (ST I SH1E ATYE ©), T4 (A°- AY)

is equal to - FT e SRR & —

(1) -A" @ A (1) -A (2 A
() I 4 A Phgs @1 @) A
(5) Question not attempted E: (5) Irg<iRe ue

111. Which of the following statements is a false

1. fpafaRad SoAl #§ I BT I I 87

statement? B (1) 984 W1 Y@ W ©, S9a Y &
(1) Polygons which are convex sets, have the INH fﬁﬁ'&ﬁﬁ =
extreme points as their vertices. (2) SravE T BT U AR g, TP uRe
(2) An extreme point is a boundary point of a faeg B 2
convex set. :
(3) The open half space {x:cx>z} is not.a convex o g - el
= & B 2 |
(4) A convex set may have infinite number of @) T 3'?3@ aed & I A fag A
extreme points. T & |
(5) Question not attempted (5) Srf<IRd W
112. Infinite series 1+|3_+17.3_+E ceneeens 00 IS €QUAI tO - 112. 3T Soft 14+ = 3 +1 1§+ _________ oo TIER & —
23 4
(1) e(1-e) (2) 3e (1) e(l-e) @ 3e
(3) e(e-1) (4) e(e+1) 3) ee-1) @) e(e+1)
(5) Question not attempted (5) orgaRa U=
35-P Page 21 of 32
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113.

114,

247

If marix A = [* 73], then A% - 5A% is
equalto-

(1) 15 (2 18

(3) 21 @ 1

(5) Question not attempted
If o, B are roots of the equation x*- a(x+1) -3 =0,

~ then zzjz: ﬁ:;gi; (where o) is equal
to -
M1 (2) a+3
@) o 4) -1

115.

116.

118.

(5) Question not attempted

For any two numbers a and b, standard deviation
is -
a-b ab
o [ @ [
; a+b 2
3) |— 4) (2P
@ |5 @ (=)

(5) Question not attempted

Three vectors a=1—J, b=j—k ¢=k—1
are given. If d is a unit vector such that
2d=0= [T).Ea], then d is equal to -

(1) +(i+f/—_2ii) @) (i+i/tzﬁ)
B T - 6
(i+§-2Kk) (i+j+2k)
3) iT (4) i*T-

(3 Question not attempted
“117.

Ifax’-by? +32’+2(a+A)xy—-(b+1)z-a=0
is an equation of sphere (where a, b c, A are
constants), then its radius is -

Vio .
(1) \E unit (2) =5 unit

1 ;
@ 22 unit (4) 3 unit

(5) Question not attempted

The value of (Vx K), where

A'= xyi -2x7] + 2yzk, at the point (1, 2, 3) is —
M 2j+k 2 gi-7k

@) 8i+j-7k 4 6i-7k

() Question not attempted

Al

113.

114.

115.

116.

117.

118.

GET IT ON
Google Play

o srage A =[2 T3 A a0 - sa)

TR & —

M:15 (2) 18

(3) 21 @ 1

(5) FrgaifRe we

e o, P HHIBRIT x2- a(x+1)-3=0a qd &,
eyt Briapes (8T o) TR X

(1 1 2 a+3

(3) 0 ) -1

(5) Sr<IRd g

=1 <1 weAmwRil a 921 b & forw Aa fawe

BT 8 —

a =2 @ 2

@ = @ ()

(5) srg<iRa U

dF WRw d=1-j b=j-k ¢=k—1 3

nﬁ%laﬁdwmwﬁﬂsﬂmﬁ%%
dd=0=[be¢d] nd =¥ -

) +(i+1/_ 2k) @) (i+i{tzi€)
s 3 6

3) +(t+j/—_2E) @) +(i+f;zii)
=3 6 7 3

(5) Srg<IRd U

?Jﬁ'{ax‘z—by2+322+2(a+l)xy—(b+1)z—a=0,
el BT TSRO (STEf a, b, ¢, A 3R &) &, o
sqeT Brear & —

() [T @) 5w
@) 2 garé 4) ;597
() eﬂaﬁﬁﬁ g

fg (1, 2, 3) ® (VxA) &1 79,
A'=xyl -2xz] + 2yzk &, g —

M 2 +k (2) gi-
@) 8i+j-7k @ 6i-7k
(5) SrgaiRa U

35.-
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119. On shifting the origin to the point (%,'—3—1) and
keeping the axes parallel, the new coordinates of

the point (_?1,%) will be -

4 Gy @ (53)
® (53 @ (59)
(5) Question not attempted

120. 1 r = |?]= |xi + yj + zk|, then V2r™ is equal to —

M n(n+1)r"2 (2) n(n-1)r"-2
@) n(n+1)rr? (4 n(n-1)r1
(5) Question not attempted

121. For vector space V3(R), where R is the field of

real numbers, consider the following statements-

Statements -

(I Wi={(x,2y,3z):x,y,z€ R} isasubspace
of V3(R).

(II) W2={(x,y, z) : X, y, Z are rational numbers }
is a subspace of Vi(R). | :

(IDW3 = {(x, x, x) : x € R} is a subspace of
Vi(R).

Which of the above statements are true?

(1) () and (1) (2) (II) and (III)

(3) (D), (II) and (I1T) all (4) (I) and (III)

(5) Question not attempted

122.1et G be the group of non-zero real numbers

under multiplication and G' = {1, 2} be the
multiplicative group of non-zero integers of
modulo 3, then the function f : G — G', defined
by -

O o

(1) not a homomorphism

(2) an epimorphism

(3) a monomorphism

(4) an isomorphism

(5) Question not attempted

119

120.

121.

122.

GET IT ON
Google Play

il Bl AR S Y, o fag @1 g
(3,5) ® wrEmRT @ R o, @ g

2" 3
(33) @ = Frderias & —
W (5= @ (5
® (%3 @ (5.0)
(5) sreRea e
S r=|F|=|xi+yj +zk|, T V" wEw E -
(M n(n+1)r"-2 () n(n-1)rm-2
) n(n+1)r"? 4 n(n-1)r"-!
(5) 3rgxiRe ueA
AT gafe Va(R), W81 R aRdfde demsit &1
&3 &, & foy 9 doFl W faar it —
BT — -
@D Wi={(x,2y,32):xy,ze R}, VsR) P
TP ITFHRE B |

) W2={(x,y,2):X,y, zIRAT A=W g},
V3(R) @1 U SUGHRE 8 |
(I W3 = {(x, X, X) : X € R}, V3(R) & T
ST 2 |
SRIGT BAET F H DI T &2
(1) () T2 (1) (2) (1) Ferr (110)
(3) (I), (IT) T (IID) |{1(4) (1) T2 (1)
(5) 3rgxiRd g
HET G OF B AT IR dRfds AR
BT WYE © 9 G'= {1, 2) ASYS 3 P PR
Il BT [OETHS GHE B, d9  Hod
f:G— G, o 91 yoR gRaifa & —
1, X YATHD
o= [z,jfzx ammai‘r 2
(1) v& GaTEIRar T8
(2) U areBIed FHEIGIRGAT
(3) THPT FHETHIRAT

@) o JeITHTRaT
(5) srgRd we

Page 23 of 32
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- 123. Cyrvature for the curve r = a(l — cos8) at the

point (a, %) J&u

(1)2*’;’E (W%
o2 -3¢
@ 2 )

(5) Question not attempted

124. If (0, 0) and (0, 3) are the vertex and focus of a
parabola respectively, then the equation of the

parabola is -
(1) x2=-12y @ x*>=12¢
(3) x2=4y @) y*=12x

(5) Question not attempted
125.If the sum of the roots of the equation

1 1 s
e | Gy = £ 18 Zero, then the product of the
roots is -

(M (@ +b?) @ —z@@?+b?)

Lo @ (@ +b?)
(5) Question not attempted

126. The cosine of angle between the tangents at any
point of the curve x = 3t, y = 3t>, z = 2t> and the

liney=z—x=0is-

e
@ 1 | .

(5) Question not attempted

127. Which of following is false statement?

(1) For smooth body, friction coefficient is zero.

(2) When two rough bodies are in contact with
one another and just to slide, then in limiting
equilibrium, force of friction produced at
point of contact is called dynamic friction.

(3) For perfectly rough bodies, coefficient of
friction is one.

(4) Coefficient of friction = Tangent of friction
angle

(5) Question not attempted

-’V?I;
'!_ u (3) .(az+_b2)

GET IT ON
Google Play

123.9% r=a(l — cos@) I fdg (a, ;—r) TR qehll B —

(1) 22 (2 22

avZ ] 3
@22 @3
(5) 3rg=IRT U

124. 9 v Raew & oM Ton A & (0, 0)
T (0, 3) €, T9 IR BT THIBRIT & —

(1) x2=-12y @) x =12y
(3) x’=4y @) y>=12x
(5) argaRa u=A
1 1 1 .
126. 7fe. THPYT ——+ —==_F Tell @l AT

I B, O el & PGS B —

% (1) (a% +b?) (@) —%(a2 + b?)

(4) %(a2+b2)
(5) arg=iRe ueA
126. 955 x =3t,y=3t%,2z=20% Wﬁ?&' R e

Rl TAT XN y=z—x =0 Ia D PIT Bl
BT B —

)= @ 3
® 1 , 3

@ |2
(5) Srg<iRe ueH

127. fopy Gl # PIET T HUF 87

(1) R+ fvs & fog gvvr e = 8 ¢ |

(2) 19 <7 %81 fivs U TR @1 W SR B
qA Th TR W W e arel & &
AW aged | W fdg R IW= gnol
I BT IS TYT HE E |

() gt &1 fivs & fog wdor Tonie U S
=l

(4) Tdor IoNs = T PHIvT BT FEeAT

(5) Irg<IRa ue

35-&D
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128. The

129,

130.

131.

24

bounded

y=x3andx? =y}

area by the curves

18 -
4 2 2 :

(1) z 89 units (2) = 8¢ units
1 . )

(3) 5 5. units (4) gsq. units

(5) Question not attempted

Solution of the following assignment problem
is -
Man - '
1 2 3 4
1 Job
I]12- 30 21 15
II 118 33 9 31
Il (44 25 24 21
V(|23 30 28 14

(1) Is1, [1-2, M-3, IV-4

(2) I-1, II-4, I11-3, IV-2

() I-1, I1-3, IlI-4, IV-2

(4) I-1, -3, -2, IV-4

(8) Question not attempted

P and Q are two unlike parallel forces (Q>P). If
P is doubled, it is found that the line of action of
Q comes in middle between the line of action of
the new and original resultant, then which of the
following is true?

(1) 2P=30 (2) 4P=3Q
(3) 4P=Q Sk 20
(8) Question not attempted

There are three mutually perpendicular tangent
planes to the cone 2ax> + y* + 2z% + 2ayz — 2zx —
6xy = 0, then value of a is -

GET IT ON
Google Play

128. ggp} y2 = 3 qerm x2 = y* & UReg &5 &7 S35

129.

130.

3
() £ o 5o @ = sord
@ ; 7 5o @) it s
(5) Srg=iRa U
fr=feRad e w e &1 gat & —
e ket oy
1B
I 112 30 21 15
11z 38 -9 s
I 44" % 25 - og By
IV |23 30 28 14

(1) I-1, [1-2, -3, IV-4
(2) I-1, I-4, -3, IV-2
(3) I-1, II-3, -4, IV-2
(4) I-1, [I-3, -2, IV-4

(5) srgalRa ueH
P @ Q =1 fAudid ¥ 91 & (Q>P) | If}

P I AT 3R fRAm W, A Q @Y fibam Y

131.

T4 F1 o gRom Y fhar Y @ 9= /5
4 o ot B, a1 e A @ e vy 22

(1) 2P =3Q (@) 4P =3Q

() 4P=Q P p=20"

(5) sreRa et

Ud 2ax’ +y® + 278 + 2ayz - 22x — 6xy =0 B

WF WRER T aq Wl dd 8, d a &1 A4M
3 _

(1) 4,2 (2) 2.4 (1 4,2 (@) 24
@) 2,4 4 3,4 (3) 2,4 4) 3,4
(5) Question not attempted (5) Irg<iRd ye
132. Value of A’ O° (with usual notation of A and  132. A’ Qf (A & T Hdaal qem Q & I
O as zero) is - S gY) BT AN B —
(1) 1800 (2 120 (1) 1800 (2 120
(3) 720 (4) 180 (3) 720 (4) 180
(3) Question not attempted (5) srgaRd we
35-6p Page 25 of 32 :
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133.

134.

135.

136.

137.

138.

24

The algebraic structure (M, .),” where
M= {a+b\/§ :a,be Z} and ‘¢’ denotes ordinary
multiplication operation, then (M, ) is not a —
(1) Quasi group (2) Group

(3) Semi group (4) Monoid

(5) Question not attempted

If random variate x and y are related as
4x + 3y + 11 = 0 and mean deviation of x is 5.40,
then mean deviation of y is -

(1) 7.20 (2 11.20
(3) -72 (4) 19.8
(5) Question not attempted

rx)rG ) -

(1) %(1~ 4x?) cosec X

2 E(l - 4x%) sec X

(3) E(1+ 4%?) cosec Tix
(4) E(l + 4x?) sec ix

(5) Question not attempted

The particular integral of the differential
equation (D*+D3+ D*-D-2)y =¢&* (Where D= %)
is -

(1) xe* (2) % xeX
@3) % xe* _ @) % xe* + 1

(5) Question not attempted

Equation of right circﬁlar cone whose vertex is
origin, axis is z—axis and semi vertical angle 30°

is ax*+ by*+cz°=0, then % is equal to -
(1) (2)

3) 4)
(5) Question not attempted

Wl Wl
WiN W

Length of polar sub-tangent of the curve
r=a(l —cos0) is —

(1) 2atan (E)

2
@®) 2asin?(3) tan(3) @ 2asin(3)
(5) Question not attempted

(2) asind

133.

134.

135.

136.

137.

138.

GET IT ON
Google Play

oy |eFT (M, «) ST8f M = {a+bV3:3,b e Z}
[ O 1 e e s o G B S A
(M,o)qﬁ —g, b —

() gt w9 e (2) uqe
(3) & w9 @) wrETs
(5) arg<IRE g%

I AT I x FA y, 4x+3y+11=0
w9 ¥ gwfa 8 gon x &1 Areg fdge 5.40
8, al y @1 97 fdges § —

(1) 7.20 (2) 11.20
@) -72 (4) 19.8
(5) IR g3

rG-x)rG+x)=
1) E (1- 4x%) cosec Tx
(2) E(l— 4x?) sec Tix
(3) E(l-i— 4x%%) cosec mx
(4) E(1+ 4x%) sec mx

(5) Sr<IRa uA

Fabd GHIER (D44 D3+ DZ-D-2)y=¢*
(G%T'Dzi)wﬁrﬁrﬁaﬂw%—

(1) xe* (2) %Xex

1 : B 31
(3) 3 xe* (4) = xe*+1
(5) 3rgalRa we

A qa faeg dom apEfEiY @ivr 30° U4 e
-3 qrel ARG Od B GHIGRY

b+c

ax’+ by’+cz?=0 &I, al — I B -
™ 3 @ 3
® 3 @ =
(5) argaRa gz :

CER r=a(1—éose)iﬁ %IE?PI arer-eff El'?f?'lﬁ'lg
;- Jot

(1) 2atan (%)

(3) 2asin® (g) tan (%) (4) 2asin (g)
) s e

(2) asind

35 -
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139. A ring, which can slide on a thin smooth rod, 139 U Goall, O 5 TP Udeh ot Ry BT W

rests at a distance ‘K’ from one end ‘O’ of the rod.
The rod is then set revolving uniformly about ‘O’

in horizontal plane. Then the radial velocity of

fbeer woaT 2, B8 3 B AR 0° W k' g
R Rerd 2| B3 &1 & 9H w9 @ Rg ‘O’
P e U6 &fw I F gHEr o ¥ seol

ring is (8 = ® constant) -
(1) = ok sinh® (2) = ok cosh®
(3) F = 2kw cosB 4) t = ok cosd

(5) Question not attempted

B INT AT 8 (0= 03IFR) -
(1) t = wk sinh6
() r = 2k cosH
(5) IrgaiRa we=

Afe 3T WA a AT b B T Ay, A, ST FHRR
A T G, Gy A R A, ot (B

(2) = wk cosh®

(4) I = ok cosd

140.If A;, A, are the two arithmetic means and 140

G1, Gz are the two geometric means between two

Gi6s
numbers a and b, then (AG‘+GA22) is equal to - TS
() = @ 2 () = 2)
(3) ab (4) a+b (3 ab (4) a+b
(5) Question not attempted (5) 3rgafRa oA
141. Which one of the following statement about the ~ 141. HFIeY He™d ST &1 A=IARI & favg §
assumptions of computer aided instruction is not AfoRed § 3 BFwT BT T8 e 27

(1) sreau® qaERal ¥ AfeHEdr @7 iy @
Tedih-] DY Hhdl 21

(2 aafm o wWIF @ Ay I W

correct?

(1) Teacher can promptly evaluate the learner’s

performance. B L
(2) One can learn with his/her own pace. s Al Il e e
(3) One can receives delayed and personaliz;gg_-g ———

feedback. TN @ e @ wE @ R @ R @
(4) It can be arranged for large group of students. . Fed ¥
(5) Question not attempted (5) srgaRa ued

142. What does an Overhead Projector (OHP) 142 RRiuR weard) (sig=idl) Far yioide Hvem 87 -

project? (1) Sfa= (arza) dfear
(1) Live video 2 Rer gzg WAl

(2) Still visual material (3) %TGE[‘ (aﬁ%u‘r) Brgal
(3) Audio files 4) Tircs e

(4) Animated graphics 5) aﬂﬁﬁﬁ L2

(5) Question not attempted
& =2 - 3

35-@
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143. The use of concept attainment model not only 143 ¥wrrm w=far gfer & W A $ad
develop the concept-learning strategies of - R & ISR g @Rl Bl

students, but also supports inductive reasoning. faefRa wxar & Mg SmMHA qeon H 0

As per the prescription of model, the inductive HEg® & | ufeme & MRomgaR S aaon

reasoning is - g -

(1) A retroactive effect (1) ve gdamdt (qd wr) T

(2) An instructional effect (2) TH FIIIETHD THTG

(3) A “Logo” effect (3) & “dr UM

(4) A nurturant effect (4) To dviE T

(5) Question not attempted (5) srgIRa we

144. Which of the following best describes the core  144. Jurell SUFH & =1 @R &1 fFeferlRad 4 4

idea of the system approach? DI FEY 3EWT A0 BT &7

(1) It ignores the internal patterns and (1) 78 yomell & ondR® e iR weell &)
relationships with the system. G'ef&ﬂ FXaT 2|

(2) Tt studies the inter-related variables thatform ~ (2) I TP Hqof &1 aTel 399 & S §¢ i
a whole, interacting and influencing one BT FEYIT BNl B, Al T,'E—{\‘T? & yHIfag
another. ‘ B gl

(3) It assumes that each part of the system ) Iz e 2 & 7% 91T w@aa vy §
functions independently. BT & |

(4) Tt focuses on individual components without @) ¥ I & 99 A9l B {7 99 daq
considering their relationships. AT TPl TR O BT Fxar 2

(5) Question not attempted (5) =i ued

145. Which one of the following is a characteristic of 145 fr=fiRad % ¥ Bl e (TeTeT) HenT—ope

flipped classroom? ‘q'fﬁ fareryer 27

(1) Reading assignments come from paper ?3““-'3‘1) IR (BT qmg?ﬂiﬁ} ¥ 3eTgT TSNS
textbooks. ff?é & 9 g

(2) Lessons are delivered through online only. (2) g6 Bad AT gy TR R T ¥

() It is blending of online and in-person @) 78 IdFaRT R amE—ars (ET—ufa)
learning elements. ATy Tat o1 |fthsmr €

(4) The teachers solely provide the information. (4) Paa Ay YIIG YST Bedf 2

() Question not attempted (5) aaﬁﬁa A
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146. uo argTus 3 Fel B gREdl & forg wEl |

146. A teacher divides the class into groups for

147.

148.

discussion, in which each group leader moderate
and regulate the discussion on the probable
answers to the question in hands. Unresolved
questions brought back to the whole class for

further discussion. This strategy of cooperative

e o, i uds |98 &1 Sgaadi
((aT) o™ el Y @ WWifdd ST @ forg
gReal &1 Hara iR Aaes sxar 8 affia
el B A o=l & fog arfte |egel wen
P HHE DY 3T © | AEHN AT B Ig

learning is called - ;__F *s AT HEAd] & —
(1) Group Investigation b (1) wgE =AY
(2 Jigsaw (2) Rt

(3) Student Team Achievement Division
(4) Teacher Presentation Students Revision
(5) Question not attempted

Which one of the following Teaching-Learning

Software presents the data as quickly and

3) et o Suafr T
(4) sreTgs gy faemft SurE
(5) srgaRa ued

147. fwferRaa § @ i Reor—siferm divedwr,

JAiFSl P Wgl P EWd B G Wual 9 AR

effectively as possible? gHTEdl w9 | YefRia &edr 27

(1) Epidiascope (2) Magic lantern (1) ey (2) A5 drereH
(3) Graphs (4) Projector (3) 7w (4) grorge

(5) Question not attempted (5) Slﬂﬂﬁﬁ PECH |

While selecting software for students’ learning,
which one of the following will be avoided?

(1) It should be usable in the school.

(2) It should be easy to use.

(3) It should allow students to progress as they

148. fgenffai @ <Ifr & fov Hivedax &1 =g+

a7 T Frefaied ¥ ¥ PR goT AR
() 718 Rreer ¥ SUERT FRY A B AR
@ TE ST B F A W ARG
(3) wre RrenPii @ o Rem B w1 I

develop. H B AR aﬁT 31 BIT A1y |

(4) All the computers must have different-user @) Wi PP A = SUYTHAl gevnd
interfaces software. WiTedIR 3Ged &I A1ey |

(5) Question not attempted (5) JgaRd ueA

3s-
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148 Which of the following is not a mode of non- 149 fAmifeiRad & ¥ ®ian enfesd FRToT &

verbal communication? WP T8l 87
(1) Facial expression (2) Radio programme (1) Fg—Har (2) fsar wdHH
(3) Body language  (4) Sign language (3) I iRe wrT () FdHa AT
(5) Question not attempted (8) SrgaiRa ueA
150. Assertion (A) - Advanced Organizer Model is  150- 2 (A) — 31fH H6® UfoHM & ARATHS
also called Expository Model. g Y HET AT B |
Reason (R) - In this model, teachers provide HRYT (R) — 39 gfoA™ H R dikge A9
verbal instructions and students S0 § 3R BTF AGUROISI Bl T
grasp concepts as a whole. w9 # TB B ¢ |
Choose the correct option - el fdee &1 99 Sy —
(1) (A)is true but (R) is false (1) (A) & & fb (R) 16T ©
(2) Both (A) and (R) are true and (R) is the (2) g=1 (A) 3R (R) ¥ & 3R (R), (A) & F8l
correct explanation of (A) AT BT &
(3) Both (A) and (R) are true but (R) is not the (3) TI4T (A) 3R (R) W<l & AT (R), (A) BT W&l
correct explanation of (A) AT T YT &
(4) (A)is false but (R) is true @) (A) 39 7 @ifdd (R) 9T 2
(5) Question not attempted (5) arg<iRa we

TS
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